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2008
SOCIOLOGY

Paper 2

Time : 3 Hours { | Maximum Marks @ 300

INSTRUCTIONS

Euch question is printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada} in the Admission Ticket issued to you, which must
be stated clearly on the cover of the unswer book in the space
provided for this purpose. In case of any doubt in the Kannado

text, please refer to English text.

This paper has four paris :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated (n each part.

All questions in Part A, Part B end Part C are compulsory.
Answer any three guestions in Part D.
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PART A Axf5=20
Answer each question in about 50 words. lach question carries 5 marks.
1. Define the [ollowing concepts :
(a) The ‘Affirmative Action’ and its effectiveness
{h) The Neo-Buddhist Maovement

{e)  Attacking ‘Untouchability’ : hopes and censtraints
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PART B 10x10=100
Answer euch question in about 100 words. Each question carries 10 marks.
2. Outline the difference between varna and casle.
3. Define the concept of ‘Dominant Caste’.

4. In today’s context, ‘Modernisation’ is more relevant than ‘Sanskritisation’.
Evaluate the statement.

5. EBExplain key features of 73'% Amendment to the Indian Constitution in
rural administration.

6. Discuss the relevance of Tribal Councils and their role in ‘local
administration’ of tribal communities.

7. Discuss the relevance of ‘rising castes’ in today’s party-politics in India.
8. Is Modernization different from Westernization ? Explain.

9. Explain key trends of Urbanisation in the country and their
CONSCQUETICES,

10. Discuss the relevance of Lewis Mumford’s famous phrase : “Citics are
symbols of possible”, in the context of today’s India.

11. Discuss ‘Criminalisation of Indian politics’ and its consequence to
Democracy.
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PART C 6Ex15=90

Answer each guestion in about 1580 words. FKach question carries
I5 marks.

Qutline the changing nature of Family in India.

Does the nature of Kinship System in India vary from region to region ?
Substantiate your answer by sociological/social anthropalogical studics.

{I.I

.and reforms are the key to improving millions of rural families in
India.” Evaluate the statement.

I}id the Green Revolution bring about ‘Depeasantisation’ in rural India ?
Explain.

Qutline the legislative measures for Women Empowerment in India.

“Population explosion is the main curse of Indian society.” Evaluate the
statemenl.
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PART D 3x30=9(

Answer any three of the following guestions, each in about 300 words.
Each question carries 30 marks.

Discuss the changing power structure in contemporary rural India.
Write an essay on caste and political modernization.

How can we achieve ‘Pluralism’ against ‘Communalism’ in India ?
Outline contemporary trends in rural-urban migration in India.

Discuss the nature of agrarian clasa structure in India.
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